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Run 5330 quartetwise, PosHelAccO/NSamplasi

=== Laser O -—
Entrie=: 1&481
Mean: 16,0957 «/- 00119
Sbd Dew: 1.6210 +& 0.0084

=== Lager OFF ---
Entrie=: 17278
Mean: 1.5279 «- 00017
Sid Dhey: 02276 +~ 000072

L L L ke I 1 L I—Ll— 1 1 1 I I L L I L L
2 4 [5 ] 1& 18
Run 5330 quartetwize, Diffsl
— === Laser OM -—-
:_ Eniries: 16481
— Mean: -0.6790 «- 0LOD3S
— Sbd Dey: 0.5321 & 0.00208
:— === Laser OFF -—-
— Entries:; 17279
:_ Mean: 0U0026 +- 0.0020
— Sid Dey: 02589 - 00074
: I L L 1 I L L L I L L L I L L L I L
] [ *] 2 ]
Run 5330 quartetwize, Asyms(

— === Lager O -—-
— Eniries: 16481
:_ Mean: -31. 3740 +/- 0.1397
— Sbd Deew: 18,9979 4/~ 0L0S0E
:— - Laser OFF -—-
— Eniries:; 17279
:_ Mean: 000832 +/- 0.0657
— Sid Dev: S6TT - 00453
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Run 5330 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entrie=: 18401
Mean: 16,9748 &~ 00127
Sid Dhev: 1.7199 &0 0.00&9

=== Lager OFF ---
Enlrie=: 17279
Mean: 1.5253 «- 00017
Sid Dhev: 02268 - 00072

Run 5330 quartetwize, Sums0

=== Laser O -—-
Entries: 18481
Mean: 310705 «- 000243
Sid Dev: 329098 - 00172

== Laser OFF ---
Enlries: 17279
Mean: 30532 «/- 0.0024
Sid Dev: 0.37AT & 0.0020
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Run 5330 quartetwise, PosHelAccd

— Lasar O —

trlnes: 1851

Magn: 3571877748 +- BS54 2988
25 Dira: AT AETT &0 25ESE. BT

— Lassar OFF —
Enlnes: 1700E
Masn: TETIYD OETE &0 THT48414
S Dre: 2IIFE1ETE - TIHL S IT

1 1 1 L =10

Run 5330 quartatwise, Diffsd

— — Lisar O —
:_ Znines: 12441
E Main: 278152 553 £ 110474188
:_ S ez 1EOTBED SE1T 5 7ROV AR07
—— — L DFF —
E Lritne: TFETE
=5 Maan: 1521030 +~ FTILTI23
:— S rwre: A994 TE BEES +0- 1912 136
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Run 5330 quartetwise, Asymsd

— === Laser ON ---
— Enlries; 18481
— Mean: -31.7882 +/- 0.127
— Sid Dev: 173080 +/- (L0904
— === Laser OFF ---
— Entries: 17278
— Mean: -0.0045 «- 00317
—— Sid Dey: 41642 - 000229
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Run 5330 quartetwise, NegHalAccd

— Ly 0% —

Erines: 1221

Magn: 4511THQ1 82T & IS TIES
25 Dwre: TIEIGED FIE] - JTRIRATTE

— Lussar OFF —
Enlnes: 1700 E
Main: TETIRES 0708 «- THE7 0280
S O 2IT2ET. M2IE 4~ TIEEEGTS
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Run 5330 quartetwize, Sums4
T .
Envbee iddn
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— Lumar OFF —
Crlnea: 1727 E
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Run 5330 quartetwise, Asyms LISbg1

ik
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=== Laser O -—
Entrie=: 1&481
Mean: 00002 «- 0.0030
St Dhey: 0146 -~ 00022

=== Lager OFF ---
Entrie=: 17278
Mean: 00030 +- 0.0032
Sid Dey: 04176 - 00022
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Run 5330 quartetwize, Asyms DSbg1

!ﬂﬂsﬂﬂﬂﬂh -

=== Laser O -—
Entries: 1&481
Mean: 00003 «- 0.0010
Sid Dey: 001310 = 00007

=== Laser OFF ---
Entries: 17279
Mean: 00011 +~ 0.0010
Sid Dey: 01310 &~ 00007

Run 5330 quartetwise, Asyms Horiz Fingar

0.4 0.6

0.5

=== Laser ON -—

Entries: 1&481
Mean: -0.00597 < QLO02TF
Sid Dey: 03707 - 00078

=== Laser OFF ---
Entries: 17279
Mean: 0.002T +- 0.0040
Sid Dey: 0.5255 +~ 0.0028
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Run 5330 quaretwize, Asyms USbg2

=== Laser O -—-
Entrie=: 18401
Mean: -0.0043 «/- 0u0021
Sid Dhew- 02852 & 00015

=== Lager OFF ---
Enlrie=: 17279
Mean: 00001 «/- Q0022
Sid Deyv: 02852 - 00015

_I'ﬁ 1 1 1 1 1 1 1 1
1.5

Run 5330 quartetwize, Asyms DShg2

=== Laser O -—-
Entries: 18481
Mean: -0.0002 &- 0000
Sid Dev: 017194 &5 D.0DOG

== Laser OFF ---
Enlries: 17279
Mean: 0000 +- 0.0005
Sid Dev: 01214 - 00007

Run 5330 quartetwise, Asyms Vert Finger

=== Laser O -—-
Entries: 18481
Mean: -0.0080 «- 0001S
Sid Dev: 00627 - 000714

== Laser OFF ---
Enlries: 17279
Mean: 00003 +- 0.0027
Sid Deyv: 03536 - 00079
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Run 5330 gquartetwize, posHE vs time
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Run 5330 quaretwize, asymisub vs fime
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Run 5330 guartetwize, negHO vs time
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Run 5330 guartetwize, summi vs time
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Run 5330 quartetwise, posH4 vs time
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Run 5330 gquartetwize, posH4 vs time
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Run 5330 quartetwize, diffd ve time
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Run 5330 quartatwizse, asymdsub vs time
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Run 5330 guartetwize, negH4 vs time
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Run 5330 quartetwize, USbg1 ve time Run 5330 guartetwize, USbg2 ve time
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Run 5330 gquartetwize, DSbg2 ve time
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Run 5330 quaretwizse, variFing vs timea Run 5330 quanetwize, horizFing vs tima
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